Refutation of the characteristic clause set of the

Prime-Divisor Proof

November 2, 2010

The following table gives an R,;-refutation of

CS(m) = {
01 :

CQ :
03 :
04 .
C5 :
CG :
07 :
CS :
Og :
ClO :
}

(20 < s0 (A~ Xo (@)X E (X (o)) M
<X0(ZO)>)\93.—|X0(:E),ZU ;

(Xo(so(Az.~Xo (@)™ 1 (Xo(yo)) Mo
Fyo * 1 = yo;

20 %21 =yo F 20 = 1,20 = %o, 20 < Yo;

Zox 21 =1%Y0,Yo > 1 z2zo=1,29 > 1;

Fwg * (21 % 22) = (wg * 21) * 29;

Fs3>1;

xo > 1,20 * yo = 53 - s2(w0) * 51(20) = o3

wo > 1,52(z0) = 1,0 * Yo = 83 15

xo > 1, 89(x0) = ®o, o * Yo = sz b

We use the notation n x F to denote n occurrences of F in a sequent. We define
F(z) = 32(D(z,s3) Nz +x < s3 Az > 1), where D(x,y) = 3z x x z = y, further
we define t = A\z.—F(x).
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